2 3 4 5 | 6 | 7 8
SPECIFICATIONS NOTES
30.8140.38 1. D-SUB 1. MATERIAL:
24.99+0.25 (A) 1.1 Voltage: 250 VAC(RMS) Max. Housing:PBT, UL 94V-0, Color:Black.
; f 1.2 Current Rating: 3 Ampere per Contact Terminal:Copper Alloy.
16.3340.13 (B
a0 Af-40UNC 1.3 Contact Resistance: 25 Milliohms Max. Shell:SPCC.
290(C 1o 1.4 Insulation Resistance: 5000 Megohms Min. Boardlock:Copper Alloy.
025 »-f\ 1.5 Dielectric Withstanding Voltage: 1000 VAC(RMS) Rivet:Copper Alloy.
7 } 1.6 Total Mating Force: 6.0 Kgf Max. 2. FINISH:
| 3 7 ¢ 1.7 Total Unmating Force: 1.2 Kgf Min. Terminal:Gold Plated over Nickel at Contact Area.
e/ B OO0 OO0 o 18 Operating Temperature: ~55C to +85'C Tin Plated over Nickel at Solder Ared.
A8 O \\Leeood S Shelk:Nickel Plated.
R NCACACACKCD J_\ 3 Boardlock:Tin Plated.
" ~ Rivet:Nickel Plated.
kU U UUUU UUUUU UU) U O@ O 3. This Product is LEAD-FREE & RoHS Compliance
L Product.
I | 3.9640.25 (F) é % é
FEN YING
¢ @
: q D111XXS NO
- | 7 SERIES NO. L s coupLuNT W Rotis
< ﬁ.’ 2 NUMBER OF POSITION | INSULATOR MATERIALS
[ H1: 15-POSIION HI-DEN 1: PBT
S P A4 Mﬂ 69: SHORT #9 OF 15-POS. HI-DEN [
3 CONTACT STYLE Je AL BUACK
BRIV INg =
| = mm L FLANGE MOUNTING OPTION
mm T = CONTACT MATERIALS 1: §4-40 THREADED HOLE
1: BRASS 2: M3 THREADED HOLE
‘ CONTACT FINISH i “wm%%w
2.29 1.145 1: G/F BRIGHT TN CLINCHED—-MOUNT INSTALLED
3 157 GOLD BRIGHT TIN A #4-40 THREADED HOLE WITH
4 300" GOLD BRIGHT TIN N wm&%un)
FRONT SHELL FINISH SCREWLOCK BULK—PACKED (4.811.8)
1: TN C: M3 THREADED HOLE WITH M3 SCREWLOCK
2: NICKEL INSTALLED (4.8x11.8)
24.99 BOARD MOUNTING OPTION " PO (eairE)
0.25 o g ;‘g’é{m BOARDLOCK
1.145 15-91.09
o]
2-03.20 28 -2
N olo @ & o
N\ ©0goo @
0 00900
= w 8 y °
. \ S FEN YING
P.C.B. DEGE £ A0 An issue. 2010.03.11 ENTERPRISES CO.,LTD
REV. CONTENTS i DATE | Title: D111 SERIES
@ Drawed Shao Jianfeng -
RECOMMENDED P.C.B. LAYOUT . Designed | He Wei ?gggnﬁﬁ%cﬂ?% L%ONNECTOR 0.20"(5.08mm)
: ~ specireD Tolewnce | Approval Lee Jlun De L
INSPECTION DIMENSION:CAY~CH) 8% [See 1T ety =T TR TRREI
M 00 =iz SHEET | | Units mm Drawing NO.| D111HI1S1X22111N0O
| 2 | 3 4 5 6 7 | 8




